SG 6340

PRODUCT INFORMATION / ®&RiEHk

- #BEEK: FEIEERME

- BUWEEEE: M(3T47L) — L(5—2)

- FEEE: XA FEE (AV-~I1yIRER)

- h5—: W= RIAb

- P YALY MURTF TV 330 % SSHRIIZEVN BBEERNSD
XaEMESRFVLET

Features / ¥5#4:

- 2CU 519 —%H

- Waveh—5>> 27 LW

- h=JMI/7—FhIh=IkE

- N=F UMY IZDRVSFTPRREMEEL THERATES
- 212 Ao

M~ . R
05/2024/V1 _? Si le ntGl 1SS



SYSTEM SPECIFICATIONS / S A7 LfIEk

A. PROFILE / L=)b

L=ILER—TINIO
&R

AEOEDEHF TR
ROFEICTHIELE
9., 0E%BZZH—T
IITEDONWTIE50cmb
BERDET, FFEM(EH
HABEIVEDOECEE
(AN

B. HOW TO
MEASURE /
BIEFE

FITTING / s2iEgEH

A. FITTING
INFORMATION /
RBEIAER

T3y MaADIE

22

]

:

21

/|

54

SG 3841
L=
e
v 20cm, >30 cm

A
4

R

BN\

C

]
i

FRRFRERRCOOVTE. HHASBVWEDEE
(AN

100 max. 500 max. 500 100
A - I

BARTEARDISEF. T30y NEfREmax. .
00mmd
ADAIE TEYTFTZEW

%SilentGliss

It &

[

SENSERETOFS

SG 6840



B. CEILING
FITTING /
KHF=E

935> - SG 3825

T345yh - SG 3832

C. WALL FITTING /
IFMEESE

AN—NI19IR
(7HEHER)

SG 6840

r@;ﬂ

\Cy )
<7
min. 60 min. 120

CEARBRICEDRIEPRGRETIEL

SG 3825
937

_ min.60 | min. 120

SG 3832
I35k

7

| 7

AN—NJ49I2tyh SG 11200 - SG 11204 & 7
5wk SG 3832:
WHEERG NILMRS SG 10492 (M4x8)

I
-

ZDIFAR—NI{vIR Yk SG 11210 -
SG 11214 & I35k SG 3832:
WELG RILNES SG 10492 (M4x8)

7

%SilentGliss

Smart Fix / AX— 87499 X mm X mm

A (SG 3825) (SG 3832)
SG 11200/ SG 11210 52 70

SG 11201 /SG 11211 72 90

SG 11202 /SG 11212 92 110

SG 11203 /SG 11213 112 130

SG 11204 / SG 11214 142 160

SG 11156 182-210 200-228




N

7

|

R

X

L

1Z)X-HIAI—I1wIR SG 11156 & T5Uyh

SG 3832:

WEEBm NILMRT SG 10407 (M4x10)

7

X

W

AX—RJ1yIRyh SG 11200 - SG 11204 & U

5>7 SG 3825:

WHEERG NILMRS SG 10074 (M4x8)

7

¥

7

ZIIFAI—NI1vIZ Yk SG 11210 -
SG 11214 & 5>7 SG 3825:
VEEER RINES SG 10074 (M4X8)

7

x

1=)X—HIAI—-I1yIR SG 11156 & I5>F

SG 3825:

BEEE RILNRS SG 11158 (M4x12)

A 20 » <
4
SG 3825 SG 3832 SG 10074 SG 10407
327 J30vh +BIMILERT M4x8 +FAIRIVRRT M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 A > 62
X’ o N’
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIVPRS M4x8

BIRILbRT M4x12

%SilentGliss

AN—=RIJ4wI Xy 60 mm

AX—=bJ4vIZvh 80 mm

SG 6840



/\
100 > 120 > }‘\
( \A ( \‘ 150 \‘ 5\2'9
<& U S Uy 5
Xy
16{ %4
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NJ1wIRyh 100

AN—=NJ1wIAtyh 120

AN—=NJ1wIRzZyh 150

ADIT AN =TIty bk
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

VORI ISP LW
80 mm

200 \
62
/ ~
\ﬁ
<
SG 11156

AZN=HYILAN—=RI1wI R
vk 200 mm

>

SG 11295 SG 11302

ADIT AN —RI4wI X2y b
100 mm

%SilentGliss

VORI EES ISP W
120 mm

SYSTEM OPTIONS / SAFLATS3>

A. WAVE /
WAVE h—5>

ADIT AR —RI4wI X2y b
150 mm

Standard components / 1RGSR

- SG 11295 IV RANT

- SG 11302 Wave 2C J51449— 80



- SG 2256 IL—F
SG2256  SG6364  SG6365 - SG 6364 WaveI/Z57>3a>
- SG 6365 Wave/\>H—

60 7
/ % - SG 6366 Wave/\h>Fv1)7
- SG 10432, 10434 )\k>

SG 6366 $G10432,34 SG 11303 - SG 11303 Wave 2C J54%— 60

Curtain components / h—TAERERT :

EBBQBE - SG 3582 7%

@ - SG 6349 Wave 7—7

SG 3582 SG 6349

Wave stack / fefzdHY - Wave 2C J544— (IZHEAERHERG)

7 Z A = Stack depth / BITDffedH%
%/ // B = Stack size / TRDfZfz M
T ] C = Min. distance / B2/\EIBR
| B
. e
Z

-t L d A L
C 2xC
Wave 2C #5414 TVIORT N—T>DEH BITOREHMK TBORHMY /) \E bR
— 80/ &% v NEIFR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C /544 TVIORT N—T>DEH BITOREHMY TBORHY /) \bR
— 60 / &= AN A B* C
60/17 4 ~2.1 100 73;’2('; /an‘;” 70
60/2.0 5 23 120 h7xbavs 80

*AT23VDIIAT>33VSG 6364%FEALRL
BEDAIYIHAXB(E. H—FT>TEC150 mmIBHNL
ijo

%SilentGliss

A Optional components / AT ERERTR
W W (E42: >30 cm):
11

SG 6840



PARTS / &5Bam

A. STANDARD PARTS / BE#505 B. OPTIONAL PARTS / #7385
SG 3832 SG 2256 SG 10432
I3yk PIVEES JUh> 100 cm
SG 3841 SG 3582 S5G 10434
L= 99 JXh> 150 cm
SG 3842 — SG 3825 SG 10492
I RAK- e D) 1527 +FARIVNES MAx8
SG 6065 SG 5115 S5G 11156
U IRIYRAMYT Tk /A2 TS IZN=YIAY=hrI1vI Xy h
200 mm
SG 11300 SG 6085 SG 11158
2C J515- RIFINSSF—yh YL NRS Mdx12

SG 6086 é& SG 11200

2TV AT = AX—RI4vIZ2yh 60 mn
SG 6098 - SG 11201

BRI - . A —RIT4wI 22y 80 mm

~J

SG 6283 . SG 11202

Z1-32F— ) AX—RIT1wI 2y 100 mm
SG 6349 _ SG 11203

Wave 7—7 % AX—=hIT4yIZX2yh 120 mm
SG 6364 SG 11204

Wave I9A57>>3> AN—=bJ1wI Xty 150 mm

N

SG 6365 X, SG 11210

Wave )\>#— i\ ZHIFAI—RNI1wIZEyk 60
Ny I mm

SG 6366 SG 11211

Wave Xb>3v)7 AIDLTAY—bI19IAzyh 80

mm

£
Ny
_'I

SG 10074 SG 11212

V%

+HYIMILPRS M4x8 AIIF AR —bT4vIAZyb 100

mm

SG 10407 SG 11213

+FARILBRS M4x10 ADITAR—hNI19IAzyh 120

mm

Ve
W
LY

ML
SG 6840 ~& SilentGliss 7



SG 11214

AIIF AR —bT1vIAyb 150
mm

SG 11295

IVRRNTS

5G 11302

Wave 2C 75445 — 80 mn

NI

SG 11303

Wave 2C #5445 — 60 mn

%SilentGliss

SG 6840



	SG 6840
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 Profile / レール 
	レールとカーブ加工の情報
	SG 3841


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Wave / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



